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1 100kN/ m##8 %% - -~ — —|3mZEEZD -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00 | 0.00 ~ 3.65 4599 | #h A4 | 000 ~ 365 | 2.17 10.95 zh s 1.00] 500 ~ 5.00 4599 | #h s | 500 ~ 500 2.17 10.95
9 100kN/ m##8 %% - -~ — —|3mZEEZD -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00| 000 ~ 440 5492 | Zn U4t | 000 ~ 440 | 2.20 11.13 zh s 1.00] 500 ~ 6.50 5492 | Zn st | 500 ~ 6.50 | 2.20 11.13
3 100kN/ m##8 %% - -~ — —|3mZEEZD -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00 | 000 ~ 6.63 8364 | ZnLlUs | 000 ~ 6.63| 1.80 9.09 zh s 1.00] 500 ~ 8.00 83.64 | ZnLLUst | 500 ~ 8.00| 1.80 9.09
4 100kN/ m##8 %% - -~ — —|3mZEEZD -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh st 1.00 | 000 ~ 6.69 8450 | #nL U4t | 000 ~ 0.00| 1.68 8.50 zh s 1.00] 500 ~ 8.20 8450 | ZnL U4t | 500 ~ 8.20 | 1.68 8.50
5 100kN/ m##8 %% - -~ — —|3mZEEZD -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZ S -~ — — —
zh st 1.00| 000 ~ 554 69.14 | ZhL U4t | 000 ~ 554 | 2.82 14.27 zh s 1.00] 500 ~ 10.00 69.14 | ZHL U4t | 500 ~ 10.00 | 2.82 14.27
6 100kN/ m##8 %% - -~ — —|3mZE#ZD -~ — — —| 100kN/m%#BZ % — -~ — —|3mEHEZS -~ — — —
zh s 1.00 | 000 ~ 6.23 7827 | #nst | 000 ~ 6.23 | 2.67 13.51 zh s 1.00] 500 ~ 10.00 7827 | #nLAst | 5.00 ~ 10.00 | 2.67 13.51
7 100kN/ m##8 %% - -~ — —|3mZE#ZD -~ — — —| 100kN/mM%E#BZ % — -~ — —|3mEHEZ S -~ — — —
zh s 1.00 | 000 ~ 5.36 66.91 | ZHLlUs | 000 ~ 536 | 1.85 9.36 zh s 1.00] 500 ~ 6.00 66.91 | ZHLLUst | 500 ~ 6.00| 1.85 9.36
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zh s ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ ImFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 %% ~ InFRBRD ~ 100kN/ m##8 %% ~ InFRBRD ~
zhs ~ zhnLst ~ zhs ~ zhnLst ~
100kN/ m##8 % % ~ InFRBRD ~ 100kN/ m##8 %5 ~ ImFRBRD ~
zh s ~ zhnLs ~ zh s ~ s ~
100kN/ m##8 % % ~ InFRBRD ~ 100kN/ m##8 % 5 ~ InFRBRD ~
Zzh s ~ st ~ Zzh s ~ st ~
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